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There are those who prefer silver and are not pleased with gold

Overview

The mawn stated that if the man said, 7o 11°72 °% *w7Pn7 and it turned out to be a 11°7
277, she is not nwTPn; however Nynaw " argues and maintains if she received
something more valuable (a 277 71°7 instead of a 703 71°7), she is NwTPH. The X3
asked what is this different than a case where someone was supposed to sell wine to
his friend and it turned out to be vinegar, or the opposite, either party can retract,
because some prefer vinegar while other prefer wine, similarly here too we should
say, some prefer silver and do not prefer gold. Our mo01n explains the s'%723 question.
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The explanation (why we say [perhaps] she prefers silver over gold) is in a case
where for instance she needs silver to complete a piece of silver jewelry that

she is making -
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However, in a case where he mislead the woman with money the 7127 do not

argue with w''9, rather all agree that she is WP, since there is no reason why she should
want the smaller amount.

Summary
The dispute between the p"n and "1 1s only where it is possible to explain why the

woman would prefer the inferior 7"217°2, but not when it is inexplicable.

Thinking it over
According to m»doIN is the 277 713°7 worth more than the 793 717, or are they the same

value, but one (the smaller) is from gold and the other (the larger) from silver?’

' Seemingly the s'k3 question is not understood; for the case of the mawn is (not similar to the case of wine and
vinegar, where sometimes people need vinegar and not wine and vice versa, but rather it is) similar to a case where
they agreed to buy wine of an inferior quality and it turned out to be a superior wine, in this case it is obvious that
the buyer cannot retract (one cannot say I want an inferior wine and not a superior wine [for the same price]). Here
too what logic is there to say that she prefers silver over gold?! n1vo1n addresses this question.

? See prefers the 7o 127 for she can use it (by melting it down) to complete her jewelry; however the gold 127, will not
serve her purpose. Therefore the X713 asks why does ¥ maintain that she is nwpn by the case of 277 Hw R¥aN O3 YW,
perhaps R27772 7°2 Ri°1 X?1 89022 77 R1°37 XX, Indeed this is the reason why the p"n maintains that she is not nwTpn.

? He initially told her a smaller amount, but he actually gave her a larger amount.

* The »"w1mn amends this to read 1121 **99 &Y, while the 0777 (and the X"wan) amend it to read w"X *3299 Kb,

% See (R"wnmn and) 1"71 71"7 32 Awn nbm.
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